FHIX 2016-2017 ZEF —FHRE R \EHEE BERRMT

R
. AR
1 2 3 4 5 6 7 8 10 | 11 | 12
D C B A D B C D C A A
BN iﬁ?/‘%ﬁ:
13. = -3 14. y=2x+2 15. 20 16.Va% +1

SN 2F
17. (Df#: B3R =3V2 (43 -vV2+12V3)
=121/6 — 6 + 36V6
=48v6 — 6
@t R =65 —3v5 -2

145
5
x+y=8

18. (1) {5x+3y = 34

waly o3

ST TR

2x+3y =12

(2) {3x+4y =17

ﬁa@@{;:;”

USRS )




19. . WM TFHIEE E&xem, A FREEZ (x-1) cm,
H AT A1 (x — 1)2 + (10 + 2)2 = x?

fif15x=13
x-1=12cm
2. #HiK13cm, HEl2em

20.
R (1) 8

(2) 10~12 77— AL,
1000 — (do+1zo0+360+200+40) =240 (AD .
w2 mE R E.

0 4 6 B 101214 16
(3) STEMEZE 10 T T EREEE AN SHEE
HEEAEEIR D= (40+1204360) + 1000 X 100%=52%.

21. ERR:INHE AT
DE ¥4 /CDA ,BF T /ABC,

LAl =22, L= 10,

D F
M. :ZABC = £CDA . e
L2 =74, :
4 3N 4
SL3 =4

- DEJBF.



22.

23.

2
WFRA TR, iﬁﬁ%—ﬁﬁliﬁs .

— =10 4]

=

;fﬁ-j:EE :E:u %D{ JU = (. LL’
30

A
@ % 607F s o + 2y = 390 Ep.r—-‘i.‘]{]—ius

11*:/?'\“"’1}.5 300 — 2y } i — 6

Al 40

IR R ESEL 200, B KRGy =120, A DS
LR IR MR {-;' =150

—120°

FrUA TR B 0T 2K, R 120 TK.
B (B B-s.0) A y=ke+6 B, F 8k+6=0,TERL K
(23 (17 Y= ;’n b6, X 0A =6,

1
.-.E‘ -

E-J . - .
EXEJXU_E”: 18, (-8 <z <0) ;

(305 5=9 B, %m F18 =9, TTREFL v = -1,
3
le-E—j iy = E::: FO =23,

SP(-4.3) .



AR EH G AR .

1. BprilGEsE12 @, HT4 &, ME7 8, JL23 8, 247100 4, [+

Z—,

2. BAAFERNAIT
5 ZSIRTAPET XS PaNIE]
1 IR Vi 397
2 SR Vi 3%
3 SPAT 4% 1IIE B Vi 3%
4 A 5 e 3 Vi 39
5 V- TH B A AR AR 2R Vi 3%
6 B ) 5 Hr Vi 3%
7 SRR Vi 3%
8 & S5 iy i H 3%
9 Zn— IR FEH 5 3%
10 AT 2R 1) 8 5 3%
11 — R R MG Vi 3%
12 — KRS IR SRS bid 34
13 PR G AEARL S Vi 3%
14 — IR IR 5 3%
15 — IR R AL N i 3%
16 FHR H 347
17 LHIREIEH Vi 84
18 I IR T FR L R Vi 8 /)
19 R 11 5 BRI Vi 6 7
20 AR B3 M Vi 6 7
21 AT 42 1IE B Vi 75
22 T IR T R R B Vi 8 /)
23 — R R B TR [ @t 9 7

3: WP 6/,

X EAS DI B R P o
AP 120,  ME LE L VR R RO IR BRI SRk, RS VR bR B fe A 1)
5.fif i 5230, A AR — & TR AR, AR REARH R, B TR T AR R
A EERCE R THAR K T 3, B8 =1 e TPOABI R, A RIS DU 2 B 2

AR, ARG £ B R B AIN, AT, X ARYL, AR, E
7 RISRBEAE TG, SEARFRANIEA T A HETC VR, T I b R U B0 v i, JCI 5
15 2 E A AT RST

X Bt A 2 A AR BT B BE B — 43, AR IR T S BUE A






